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_l 2023 (1"-A) ‘ holliis > i
(- INTERMEDIATE PART-TI (12" Class)
CHEMISTRY PAPER-Il __ GROUP-I

TIME ALLOWED: 2.40 Hours SUBJECTIVE | MAXIMUM MARKS: 68 |
| NOTE: Write same question number and its paris number on answer book, as given in the question paper. |
e— SECTION-L e
2. Allempl any eighil parts. o - BX2=16 —l
 {i) | What is chemical garden? o - o
(i) | llow is boric acid prepared from borax? - 2
| (iii) | What is the effect of heat on boric acid? 5 g
(iv) | Complete the following reactions: i 19
e B T
@ [ ) +s0,—Remnn g m k) ol
L.‘&,,_.,ﬁé! 3 oy = =
= -\.,"‘a? x
(v) | Give thpbeneral mechanism of electrophilic substitution reactions of henzene, 2]
| (vi} | What is meant by the terms?  {a) Nitration (b) Oxidation e : B!
(vit) | What arc steroids? Give one example. 2 ,
{viii) | Name the important bases which make up | D\u’k and RBNA, ) Z
(ix} | I'repare polysiyrene and give ils Lwo uses? B R 2
{x) | What is acid rain? _ 2
(xi} | How de chlorofluerocarbons destroy the ozone layer! gy m oo s
_{z{_lz} ‘\ﬂ- nte |1e NAINES | nf\-am}m slapes in waler treatment. = ) 2
3. Attempt any eight parts. o §X2=16
{i1 | What are alicvelic wmpmmdh’ Give Lheir l&g_{,xanlplm - 3

(i) | What is cracking of petroleum? Give an example. |
{if) | How will you convert acetic acid to ethane? ) _ |
(iv) Describe Woll-Kishner's reduction.
{v} - Hew is Mustard pils [!ILI)HIMJ from cthene? -
(vi) ; Why do the elements of group VIA UE]lLl’ than O'X} gcn show more than two oxidation states? )
(vil) | Why is 8¢, dissolved in H,8¢), and not in water”?
a_'_:{j'.{iii'] Dcsmbc “Ring test” for the confivmalion of the presence of nitrate ions ir. solution.
| (ix) How is Grignard’s reagent prcpl:-_d‘? Grive its equation,
(x) | What is an Llcf.,truphdc? Give its two examples. ; i
| {x1) | Define Paper, Mention its two woody raw materials. . i
| txii) | What are Macronutrients? Give their requiretnent per acre. B o
_4._Attempt any SiX parts. B ) 6X2=12 |
(i) | How is paramagnetism related with unp’l]rud clectrons?
(ii’j Why do transition elemenls exhibil more than vne oxidation qtate%
(ifi) | What is tin plating?
(iv) | Give two reactions which invelve the cleavage of U— # bond in alcohols.
...(.v) Why can 100% aleohol not be prepared by fermentation?
(vi) How T ph\,r,ul 18 pn.parcd from Dow’s process? N
(vil) | Give the reaction of acetonce wilh hydrazine and h}'d] XY ]amlm .
{vii1) | How is _tormaidehuic Bup_ﬂ_fgg‘l on industrial seale? . _ |
(ix) | How is acetic acid prepared from €0, ? -
'  SECTION-II

 NOTE: Attempt any three questions. 3X8=24
3.4a) | State modern periodic law. [low the clussification of clements in di 'T erent blocks hclps in
| | understanding their chemistiry? 14 3=4 |
(b) | Write down the problems and their soJutlon\ durmg working of Diaphragm cell. _ 2= |
6.(a) | Describe the peculiar behaviour of Fiuorine, {any fourpoints) 4
_(-b} What are the principal methods of chemical pulping? Discuss in detail digestion process
involved in neutral sulphile semi chemical process? - Ik3=4
7{a) | Write a nole vn relorming of Petroleon,. *
(b} | Bxplain sttucture of Benzene by resonance met methu-d 4 |

8.(a) | How will you bring about the conversion of ethyne into neoprene? "v[entmn the equations,

(b) | What are J‘Illulenphlilb subb.lm‘cmm reactions? L.xplam Sy 1 reaction.

4
4

| 3.{a) W Tldl 15 cyclic polymerization ol A lln nes? Give the ma,a.h.a.ms_n of aldol wndunmnwn reaction, 4
4

(h} | Deseribe twa methods lor the prepnr.mon_ul arming acids. - G
23-2023(1 [A} 18000 (\IU ETAN}




2023 (I"A) Roll Not
INTERMEDIATE PART-II (12" Class) |

"CHEMISTRY PAPER-II _ GROUP-II - - )
'__Tll‘[_E ALLQ_WED 2 40 Hours | SUBJECTIVE | MAXIMUM MARKS: 68 |
| NOTE: Wrile same question number and its parts number on answer book, as given in the question paper.
SECTION-I - _

2. Attempt any cight parts. . . §X2=16 !
(i) | Write two uses of borax. B _ ]
(i) | Why are liquid silicones preferred aver ordinary orpanic lubricants? i

| (iii) | What is ashestos? Give its uses. - B A
(1v) | Write two addition reactions of henrene. ) _
| _{v) | How will vou prepare benzene from n — Hexane? 5 |
| (¥} [ How does ozone react with benvene Lo give glyoxal? i
{vii) | Whal is a copolymer? Give an equation for ils [rrr,p.-imtmn ]
(vii1) | Draw the structure of sucrose. 4 N ——
(ix) | What are conjugated proteins? L -
_[x) | Mentien the conditions which are required for the Tormation of smeg? -

_(xi} | What do you mean by biochemical oxypen demand {1301)? Loz -

{xit) | What is incineration? Give its two disadvantages, o B R

| 3. Aftempt any cight parts. i ) §Xx2=16
(i) | What is meanl by luming nitric acid? -
(it} | Give two methods lor preparation of NO,.
(iii) | Give 1.];&;&:11,1.1()!1 ou,urrmg in contact towe er m 0 prepare H ‘s:‘] )
| (ivy ‘Whal 18 lunctional group? Write formulas of two Oxygen containing iun(,u(mdl eroups, I
| (¥) | Define metamerism with one example. L - |
_iwvi) | Give reaction for incomplete oxidation of methane.
| (vi1) | What do you mean hy inertness of sigma bond in alkanes? iy

(viii) | What is meant by dechydrohalegenation ot alkyl halides? _
| (ix) | What is nucleophile and electrophile? = .
| (x) | How can ethyl bromide be converted into ethyl acetate and ethyl thioal cohols?

(xi} | What are fertilizers? Give any two qualities of good fautilizer.

(xil) | Write down names of woody raw materials of paper. :

4. Attempt any six parts. 6 X2=12
(1} Differentiate between paramagnetism and diamagoetism,

| (i1} | What is sacrificial corrosion? s
| {ifi) | Deline the term coordination number with two examples, .
{1y} | What is Williamson's Synthesis?
(») | Ethanol obtained by fermentation does nol exceed 14% Ciive the reason,
|_(vi} | Wnite down the different products abtained by dehydration of ethanol at different tcmperatures
| (vii) | What are oximes? [low can they be produced? -
viit} | How can aldehydes and ketones be ditferentiated hy lehling’s solution test?
i (ix) | Differentiale between protein and polypeptide. R
cmn ; SECTION-11
 NOTE: Atempt any three guestions. ) - iR .3 X §=24 |
%i(_{n}_ What are the oxides? Classify oxides on the basis of acidic and basic behaviour with cxampleq 4
[ (b} | Deseribe any eight points 1o show the roie of lime in industry, 2 4
6.a) | Give the rules for romenclature of oxvacids of halogens. 4_|
| (h) | Discuss the wet process for the manufacture of cement up to clinker formation. 4

7.48) Define sp hybridization. Explain lhc 11_15:]1_&1(_:11 t.]_‘r_f;_t_h_'tn:, |T_1r_:i_e_c_ulu_ aE:-:_:_nrdmg to this a.ppmach 4

(b) | Write a note on stadility of benzens, R —_— 4
| 8.a) | Write down the mechanism ol Kelbe's ¢l cclml) iit. 1nc|hod tor the pn,parallun u[ clhene, 4

(b) | Explain the mechanism of SN, reactions in detail. 4
9.(a) | Describe with mechanism “aldol condcnsatmn reaction, Wh} fol maldehyde does not give this reaction? 341
i (b) | How would you convert acetic acid into the following compounds? 4
! | {i) Methane (ii) Acetyle chloride (iii) Acetamide {iv) Acetic anhydride

242023(1"-A}16000 (MULTAN)



i Paper Code ]

| Number: 4481 ‘

2023 (1%-A)

INTERMEDIATE PART-TI (12" Class)
| CHEMISTRY PAPER-II  GROUP-I "
TIME ALLOWED: 20 Minutes | OBJECTIVE

MAXIMUM MARKS: 17

i Q.Nu.l You have {our choices for each uh_]u.lwe tvpe quustmn as A, B, Cand D, The choice which yau think
| is correed, fill thai bubible in fromt of (hat question sumber, ou bubble sheet. Use marker or pen to
L | fill the bubbles. Cutling or Tilling iwo or more bubbles will resali in zero mark in that question.
| 8.4 QUESTIONS ; A | B i D
| 1 | Pick the element having lcast melting Be I Ca Mo Sr
| point among alkaline carth metals? !
: i |
| 2 | The mineral sylvite has the chemical Nallf R MeCO, Cal(,
i formula: i |
—_—- e ! : - !
i3 | Boric acid cannot be used: | As antisepric | Forwashing Insoda ¢ For cnamels |
' in medicine | Lyes bottles 1 and glazes i
A seoadl Y /.
i 4 | Oxidation of N in air produces: - N0 I N0, | MO, N0y
| | |
| s S | - 4. = £
! 3 | Which halogen does occur naturally in | 1, B, ey ! |
positive oxidation state? I i [
& | The purest form of conumereial ron is: Pig iran Clast iron Wrought Stesl
ieon
7 | Which one of the following is not Naphthalene | Pyridine Furan ‘ Pyrrole I
| heterocyclic compound? | i
[—"" i oz e
8 | The reaction step shown is knowr. as: Hydrolysis | Hydration | Mydroxylation ‘ Flydrogenation
| . ; o p T
| ! HOC-CH,-0SOH+ 015 yHC-CH, -0H « H,80,
9 | Predict the pmduui'i.n_LhL: reaction: | SO H
on Ay | e | g
2 *
) IO
O vm —— | & | L |
“\%:}f_} e o S \___Hf
10 | For which mechanism the first step E, md. B : }'" e q‘]\r? \". e L_é ' EI afelt SNI .
mvalved is the same? i
11 ‘lv,, ‘hich enmpeonnd shows maxinum CH: C,H.C¥ C.1.01 e - & -_(-_._“_! !
| hydrogen bonding with water? '
12 | Which among the following is known O LOH CALOH | CHCO0H | Gt -0-CH,
az Carbolic acid? ' |
13 | Ketones are prepared by oxidation of: | Primary Sccondary ._-r“ Tertizry All of these
alechal | alcohel alcohol
14 | Acetamide is prepared by heating: | Ammonium Methyl Ethyl Ethyl
acelale cyanide acetale cvenide
15 | Natural starch consisls of how much 50%, 8O — 0%, 10 —20 % 4
| percentage of umylose?
16 | Micronutrients are required in the 440y 6-200p | 6-200kg ; 4—40kg
i quantity ranging from: _ |
17 | A single chloride free radical can 10° 10 : 10° 10
| destroy how many ozone molecules? ;
; ol

23(0bj)(TE)-2023(1°-A)-18000 (MULTAN)
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! Paper Code
- Number: 4483

2023 (1-A)

INTERMEDIATE PART-II (12" cu.m}

CHEMISTRY PAPER-1L

GROUP-1

TI\’IE ALLDWE]) 20 "vlmutm

DBJECTIVE

[ MAXIMUM MARKS: 17

Q. No.1 | You have four choices for each vbjective type qumtmu as A, B, C and 1. The choice which yo you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to

fill the bubbles. Cutting or filling hvu or more hubbles will result in zoro mark in that guestion.

S# QUESTIONS A B C D
I | The reaction step shown is known as: Hwdrolysis Tlydration Hysroxylation | "}dfﬁﬁ-fr_mﬁ{m
H,C—CH, 080, + H,0-%5s HC-CH, - OH + H,80,
"2 | Predict the prociﬁci in the reaction: i 0 CTH_‘ SOl H ]
U}I I = :
[’(’ g I f\“'l 7 N
s :\;‘\_ A 1 I
_u' =~ ~ {\L | \.\
~ Bty N
3 | For which mechanism the first step - Ih'l and E. £y and SN I SN, and B, | £, and SN
involved is the same? |
4 | Which compound shows maximum C,H, CGHCE | CHOH T CH, ~0—-CH,_
hydrogen bending with water?
"5 | Which among the following is known CH.OH C.H,OH | CH,COOH | CH,~0-CH,
as Carbolic acid? i ’
| 6 | Ketones aféIﬁ'cpaIctl by oxidation of] Primary Secondars Tertiary | Allof thesz |
alcohol alcohal alcohel
7 | Acetamide is prepared by heating; Ammonium Methyl Lithl Fihyl
' acetale cyanide acefate cyanide
8  Natural starch consisis of how much 30% B0—90%  10-20% 40%
| percentage of amylose?
9 | Micronutrients are required in the 4—d0g 6_200g | 6-200kg 4- 40ke
guantity ranging from: '
16 | A single chloride free radical can 1" 1ot 102 ] 10° i
destroy how many ozone molecules?
" 11 | Pick the element having least melting Be Cu T My S
pomnt among alkaline earth mctals?
12 | The mineral sylvite has the chemical NaCf KCF MgCO, | CaCO, |
formula:
13 | Boric acid cannot be used: As antiseptic | For washing In sod For enamels I
in medicine eyes bottles and glazes |
14 | Oxidation of N0 in air produces: N0 N,0, ‘ N0, N0,
15 | Which halogen does occur naturally in _ i, Br. | GE, F,
' positive oxidation statc? ,
16 | The purest form of commereial iron is: Pig irom Cast iron Wrought | Steel
iron ‘
17 | Which one of the following is not ;: {\Ia]}'illt_ﬁa]enc Pyridine Furan Pyrrole

heleroeyelic compound?

23(0bj)(FF¥E)-2023(1"-A}- 18000 (MULTAN)
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‘ Roll No: (5_-/

Paper Code 2023 (17-A)
| Number: 4485 INTERMEDIATE PART-TI (12" Class)
CHEMISTRY ' PAPER-II "GROUP-I | |
TIME ALLOWED: 20 Minutes | OBJECTIVE | MAXIMUM MARKS: 17

Q.No.l | You have

four choices for cach dbjectivc type question as A, B, C and D. The choice which you think

| is correct, fill that bubble in front of that question numkber, on bubble sheet. Tse marker or pen to
| fill the bubbles. Cutting oy filling two or mare hubbles will result in zero mark in that 1qesiiun.
[ 8.3  QUESTIONS | A I C L |
1 | Which halogen does ocour naturally in L Br, Gl F,
positive oxidation state?
2 | The purest form of commercial iron is: Pig iron Cast iront Wrought Steel |
| . iron !
- E s o . |
3 | Which one of the following i3 not Naphthalene Pyridine | Furan Pyrrole
heterocyelic compound? |
| 4| The reaction step shown is known as: [Tydrolysis [ Hydration | Hydroxylation | Hydrogenation
.0 —CH, —OSO, I + H,O—"55 [[,C ~ CH, — OH + H,50,
5 | Predict the p_rodu.c‘t in the reaction: . Cf:'s S H 20
H " V' ot
' ESNT Y | AN
/’H“‘\"l + I — L. ) L rlr (/\ |
k JJ g gt % _,3 j
— :. \.l"
6 | For which mechanism the first step E and B, | E,and SN, | SN, end £, | E, and S,
involved is the same?
71 Which compourd shows muximum C,H, CHCF C, M OF | CH, -0-CH,
hydrogen bonding with waser?
. — e = S i
§ | Which among the following is known | C H,0H C,H,0H Tk 1,COOH | CH.-0-CHy
! as Carbolic acid? | ;
0 | Ketones are prcpifca-ﬁy oxidation of.  Primary Sccondary Tertiary All of these |
aleohol alcohol aleohol
10 | Acetamide is prepared by heating: * Ammonium | Methyl Ethyl Fihyl
| acelate cyanide acetate cyanide
- ] e 2 =
11 | Natural starch consists of how much ‘ 0% 80— 90%% 10 -20% | 4094
percentage of amylose?
12 | Micronutrients are required in the A-4Gg | 6-200g | 6 200kg = 4-40kg |
quantity ranging from: |
13 | A single chloride frec radical can T 104 102 T
destroy how many ozone molecules? '
- : = - = |
14 | Pick the element kaving least melting Be Cur M Sr :
point among alkaline carth metals?
15 | The mineral sylvitc has the chemical NaC¥ KCt MgCO, - CaCOo,
formula: '
16 | Bore acid cannot be used: Ay antiseptic | For washing Insoda | For enamels
in medicine CYes bettles | and glaves
17 | Oxidation of NO in air produces: N0 N0, N,0, N,0,

1.
23(Ob ) TY)-2023(17-A)-18000 (MULTAN)
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Paper Code | 2023 (0CA) _[RollNol 7 |
Number: 4487 | INTERMEDIATE PART-IL (12" Class) | ™ l

s =t e S e 1 nim sy W—— S : ________I
[CHEMISTRY PAPER-Il  GROUP-I - - _
TIME ALLOWED: 20 Minutes | OBJECTIVE | MAXIMUM MARKS: 17__

Q.No:i You have four choices for each objective type guestion as A, B, C and D. The choice which you think ]
is correet, fill that bubble in front of that guestion pumber, on buhhle sheet. Use marker or pen o
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

B QUESTIONS B i A B | € . D |
1 | The mineral sylvite has the chemical NaCt | KCE MgCO, CaCO,
formula: ' |
2| Boric acid cannot be used: [ As antiseptic | Tor washing Insoda | For enamels
in medicine cyes bottles and glazes
3| Oxidation of NO in air produces: | N N0, -~ _"JTU‘ T }'-TE{'J,1 -
! - - \ .
4 | Which halogen dees occur naturally in | T Br, C#, I
positive oxidation state? |
"5 | The purest [orm of commercial irom is: -FPig iron Castiron Wm@ T Steel |
iren
=T Which one of the following is ot | Naphthalene | Pyridine |  Furan Pyrrole

heterocycelic compound?

Hydroxylation ‘Hydragenation

7 | The reaction step shown is known as: T Hydrolysis Hydration

H,C—CH, —OSO,H + H,0 - II.C - CIL, - OH + H.50,

.\ sar H

Ve 010 0|0

9 | For which mechanism the first step Z and E, | E,and SV, | SN, and £, | E, and SN,
s invalved is the same?

8  Predict the produet in the reaction: | i

10 | Which compound shows maximum C,H, CoH GE . C,H.0l | CH —0-CH,
hydrogen bonding with water?
11 | Which among the following is known T &, H.OH C,H,0H i (j,f,ra.'co[)lrf' CH, -0 CH, |
as Carhalic acid?
12 | Ketones are prepared by oxidation of: " Primary Secondary " Tertiary All of these |
| alcohol aleohol alcohol
[ 13 | Acetamide is prepared by healiﬁg_: Ammonium Methyl Ethyl i Lthyl
| acefate cyanide acetale cyanide |
14 | Natural starch consists of how much 50% T80 90% | 10-20% 40%

percentage of amylose?
|I |

' 15 | Micronutrients are required in the T 4-40g §_200g | 6-200kg | 4 40kg |
| quantity ranging from:

16 | A single chloride free radical can l 10° in° T 10°
destroy how many ozone molecules?

17  Pick the element having lcast melting ) Be - Ca Mz g .:
point among alkaline earth metals? - ; |

23(OB] (BT PrSr) 2023("-A) 18000 (MULTAN)
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[ Paper Code 2023 (1°-A) ‘
Number: 4482 INTERMEDIATE PART-1I (12" Class) Roll No;
CHEMISTRY PAPER-II GROUP-II -
TIME ALLOWED: 20 Minutes | OBJECTIVE

[ MAXIMUM MARKS: 17

| (Q.No.l | You have four choices for cach objective type qucst.i“(;n- as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on buhble sheet. Use marker or pen to
Till the bubbles. Cultting or filling two or more bubbles will result in zevo mark in that question.

7 N - QUESTIONS A B | C D
Metallic Metallic Metallic Metallic
character character characler character

1| Mark the corroet statement: increases increases | remains the | remains the
down the | [rom lefi fo | same down | same from
group. right along | the group, | Lol to right
a period. along a
Peried.
2 | The mineral (CaS¢,.2H, 0 has the Epsom salt  Dolomite Caleite Crypsium 1
general name: '
3 | Which element forms an fon with Beryllium ol Carbon Silicon |
charge 137
4 | Which of the following species has the o, (7, £)*
maximum number of unpeired electrong?
5 | Which of the Tbifbwing hydroocn halide is fif free
the weakest acid in solution?
6 | Coordination number of P¢ in 6
| PrCEINGL ) (N, | s
7 | A double bond consists of; | One sigma Two
and two Pi-bands
| . Pi-honds |
[ & Mustard gas Phosgene Bin-gas
S gas
9 _. “Nitrobenzene -'33%123!16 Toluene Chlarchenzene
5 |
10 > B
Propanacic I'ropanal Propana]
acid
Il | The solution®E Acetic Formic acid | Benzoic Butanoic
manufacture o acid acid acid
12 | Which of the follo fbir s Tallen’s | Fehling's Benediet’s | Girignard's
3 i i =
with ketones? ! E reagent reagent reagent reagent
13 Which coi‘npuund will have t T ey OH R s o . H, E, == P
repulsion with H.,07
14 Which compound is used as anti-freezing CH.OH  CH.-0-CH, | CLEnoron  PRGORH,
apent in automobile radiator?
15 | Vegetahlz fats are: Insatwated  Fssential Glyeerides | Glycerides
fatty acids oils of saturated | o7
obtained fatty acids | unsaturated
from plants Tty acids
16 | Major nitrogen fertilizers are: | Urca and Urezand ~ Ammonia | Diammonium
ammoniurm super and DAP phosphate |
nitrate phosphate anly |

17 | The substances which directly kill the Fungicidas  Insecticides | Pesticides Herbicides

unwinted organisms are called;

24(0hix * 202301 A3-16000  (MULTAN)
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Paper Code 2023 (17-A) ( ":/

Number: 4484 INTERMEDIATT, PART-TT (12" Class) lRoll No: -

CHEMISTRY PAPER-I  GROUP-II 1

TIME ALLOWED: 20 Minutes [ OBJECTIVE [ MAXIMUM MARKS: 17

[PrCELNO.) (NH,),] is:

| Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in tront of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
& QUESTIONS A B C D
1 | A double bond consists of: Two sigma | Onesigma  One sigma Two
bonds and one and two Pi-bands
- ~ Pi-bond | Pi-bonds Q
2 | g, f —dichloroethy] sulphide is | Mustard gus | Laughing Phosgene Bio-gas
commanly known as; gas Bas
3 | Amongst the following, the compeund that | Nitrobenzene Benzene Taliens Chlorobenzere
can be mosl readily sulphenated is: |
|4 | When COis made to react with ethyl
magnesium iodide, followed by acid Propanc | . ropz'.nolc Propanal Propanol
hvdrolysis, the product formed is:
5 | The solution of which acid 1s used for Acetic Benzoic Butanoic |
matufacture of pickles: acid acid acid
6 | Which of the following reagent will react Tallen’s Grignard's
with ketones? | teagent reagent
7 | Which compound will have the maximum O Cif -0 -Cil,
| repulsion with ££.037 i :
8  Which compound is used as an( N cir oy | H ORI )
agent in automobile radiator? &
9 | Vegetable fats ars: Glveerides  Glyeerides
| of saturated of
fatly acids | unsaturated
| lalty acids
10 "':\,'Iaiur mlr Ammonia Diammonium |
7 and DAP phosphate
anly
11| The Sl]bb which directly kill Fungicides | Insecticides | Peslicides | Herbicides
unwanted Grganisms are calied:
' Metallic Metallic | Metallic | Metalle
character character character character
12 increases Increasgs | remains the | remains the
down the | fromleltlo | same down | same [rom
group. | rightalong | the group. | lettto right |
a period. along a
Period,
13 The rinetal (('_'(_;S._ﬁ_. H (yhas the I:psom sall Dolomite Caleite Crypsum
rencral name:
14 | Which zlement forms an 1on with Beryllium = Aluminium Curbon Silicon
charge +37
15 | Which of the folloﬁ-‘ing species has the 0. eh 0o; o
maximum number of unpaired electrons?
16 | Which of the following hydrogen halide i Hi HBr 1 HOE
the weakest acid in solution?
17 | Coordination number of Pt in 2- 4 1 ]

24(0b W W )-2023(19-A)- 16000 (MULTAN)



Paper Code

Number: 4486

T

2023 (17-A)
INTERMEDIATE PART-11 (12" Class)

| CHEMISTRY PAPER-II

GROUP-I1

TIME ALLOWED: 20 Minutcs I

Roll Na:

(4

Ly

OBJECTIVE | MAXIMUM VIARKS: 17

). No.1 | You have lour choices for each objective iype question as A, B, C and D. The choice which ¥ou think
| | iy worreed, Al thal bubble in Front of that question number, on bubble sheet. Use marker or pen 1o
fill the bubbles, Cutiing or filling two or more bubhles will result in zere mark in that gquestion.
8% QUESTIONS ' A B C D
1 | Which of the follewing reapent will react Taoller's Fehling’s | Bonedict’s  Grignard's
with ketones? reagent reagent reagent reagent
2 | Which com;&bﬁr_{d_ will have the maximum (L H.OH | OO CaH R, -0 -CH,
repulsion with 7,07
3 Which compound is used as anti-lreezing CHLOH CH, ==L | e onan GO0,
agent in automobile radiator?
4 | Vegetable fats are: Unsaturatz¢ | Essential Glycerides | Glyeerides
fatry acids oils of saturated of
fatty acids | unsuturated
fauty acids
5 | Major nitropen fertilizers are: Urea and . Ammonia | Diammonium
ammonium s and DAP phasphate
nitrate ; g
The substances which directly kill the Fungicides Herbicides
unwanted organisms arc called: |
Metallic
characterss|  character
7 | Mark the cotrect statement: remains the | remaing the
same Jown | same from
the group, | lefl to right
along &
Peried,
8 | The nnn_cra Calcite Gypsum
general nay :
0 A
Y | Which efgiient forms an ion v Carbaon Silicon
charge 153 i
o e, S,
10 | Which of theif lowing specics has T% 0; 0
T ITILITY T
11 Which of the Ir HCe
the weakest acid lon
AT
12 Ceordination number ‘ﬁ%& i l é !
[P CE(NCLINH ) ] s
13 A double bond consists oft Two sigma | One sigma | Oi'lc_sigma Twa
bands and one and two Pi-beonds
| Pi-bond Pi-bonds
14 | 4, B'—dichloroethy] sulphide 15 Mustard gas | Laughing Phosgene Big-gas
commonly known as: 225 g
15 | Amongst the following, the compound that  Nitrabenzene | Benzens Toluene Chizrobunzere
can be most readily sulphonated 1s:
16 | When €O, is mude 1o reacl with ethy]
mapnesium indide, followed by acid Propane PI’Op?fﬂOIE Propanal Propanol
hydrolysis, the product formed is: acid
17 | The solution of which acid is used far Aceric Formmie acid Renvoic Bulanoic
manuliclure of pickles: acid acid acid
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Paper Code

Number: 4488

2023 (17-A)
INTERMEDIATE PART-11 (12" Class)

TRG" No:

CHEMISTRY PAPER-II

GROUP-IT

TIME ALLOWED: 20 Minutes

"OBJECTIVE | MAXIMUM MARKS: 17

. No.1 You have four choices for each ubjeciiw'-c type question as A, B, € and D. The choice which you think
is correct, fill that bubhle in froni of that question number, on bubble sheet. Use marker or pen io

fill the bubbles, Cutling or filling two or more bubbles will resnlt in zero mark in that question.
B QUESTIONS | A B -« Dy |
1 | Vegctable fats are: | Unsaturated | Essental Glyeerides | Glyeerides
. latty acids oils of saturated ol
| obtained Falty acids | unsaturated
[roam plants fatty acids
2 Major nitrogen fertilizers are: Urea and Urea and Ammonia | DHammonium
ammaonium super and DAP phosphite
nitrats phosphate only
3 | The substances which direcﬂ}' kill the [fungicides Insccticides | Pesticides Herbicides
unwanted organisms are called: | &
- Metallic Metallic Metallic
character character character |
4 | Mark the correct statement: lnereases remains the | remains the
dowm the ; e same down | same from
ZIOup. hc left tor right
Gt along a
Period.
3| The mineral (CaSQ, 24,0 ) has Fpsom sall Ciypsum
general name:
| 6 | Which clement forms an ion Silicon
charge =37
7 | Which of the following specie € 0
§ HF HCY
9 1 6
1o | Two sigma  One sigma ~ One sigma Two
homds and one and 1w IMi-bonds
! Pi-bond Pi-honds _
11 Mustarc gas | laughing Phosgene Bio-wauy
JEGE s
12 i Nitrobenzens | DBenzens Tolucne Chlerohenzene |
can be most readily sulphonated is:
13 | When (7, is made to react with ethyl
magnesium iodide, followed by acid Propane | Propanoic | Propanal Propanol
hydrolysis, the product formed is: f | aclc
14 The solution of which acid is used for Acatic Formic acid Benzoic Bulanowe
manufacture of picklcs: acidl acid acid
15 | Which of the following reagent will react Tuallen’s Feh]ing-"-s Benedict's ('}:'ignarﬂ.:ﬁ
with ketones? reagent reagent reagent reagent
16 | Which compound will have the maximum ¢ HLOH CICILHON | O H, G g =0
repulsion with H,07?
17 | Which comnound is uscd as anti-freezing CH,0HF | CH,-0-tH, CILCHLCH, R | LG
| agent in automobile radialor?
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